
SAP ABAP table OIGFIIQS {TD-F assignment of quantities to stages}

OIGFIIQS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

TSNUM [NUMC (4)]

LD_ITM [NUMC (4)]

OIGFIIQ

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

LD_ITM [NUMC (4)]

 OIGFIIQS-LD_ITM = OIGFIIQ-LD_ITM 0..N

0..N

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]
 OIGFIIQS-SHNUMBER = OIGS-SHNUMBER 

0..N

0..N

OIGSS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

TSNUM [NUMC (4)]

 OIGFIIQS-TSNUM = OIGSS-TSNUM 

0..N

0..N

T000

MANDT [CLNT (3)]

 OIGFIIQS-CLIENT = T000-MANDT 

0..N

0..N


